Hailstone Terminal Velocity
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Use correlation from Frank White's book.
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Now a program is written to calculate the terminal velocity over
a range of hailstone diameter ranging from .1cm to 15 cm.

ri
W(X,r1) = |8-Vpgi 5 y - X
3pair| 12—— + +04
rl-x X
1+ [2.r1l-—
v
V1(x,rl) := root(w(x,rl),x) V1 is a function - where x is the

guess and rl is the hailstone diameter.
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A for loop is used to calculate velocity
for 90 hailstone diameters. The guess
for each call of function V1 is 5.

Diameters in centimeters.

Now graph the terminal velocity and Reynolds number
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